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g o

goboboogooob,bbuugogbbobobuodoooooboobob,buooan
Ooobooooooob,00obob0obogobo. OobOo,0o0o0bgon cCateOBJ O
goboggbbobobuooobboobboobboobooboboobbuoooobo. o
O,0000000000000000000,CafeOBJODOODO. ODO0OOODOODO
gbo,dgggoobdogooboboogoon.

CafeOBJOUOODOOOOODOOO,0000D000DO0O0ODOOOOO.ODOODOO
OO0O000DbO00o0oobooboogn. CateOBJODOODODOO100,0000000O
OOoooobOo,0oboog. CafeOBJOODODOOODOOOODOOODOOOODOODO
00000 (OTS : Ovservational Transition System) 00000000, 0000000
g,ggoobbobbbobouoooooooobb. bbbbooooooooon, o
gbobogobboogbboooboogobobogoobboooobobooooboon,d
gboooogo.

gooub, dggbobbobood, b0 odouobobbooouboboo
(HOTS : Hybrid Observational Transition System) D00 O00000. 00000000
OO0D0O0D0,2000000000000000DO0.D00DO CafeOBJODOODO,00000
gbobbuoooobobbooa,bbbuooooboo.

goobo,dggdgobobbug,ggbboobbouoooobboboooad
gboogob,gboobbduoboboboobbooboobbuoobboobbon.
OO0DO000,CateOBJ 0000000 0ODOOOOODOODOO,D0D00DO00ODOOO
gboboogobbodg,bboooobbo,gbbbuoobboooobboan.
goboboob,2000dgobobobbougooooobbobboboodgg,ggo
gbobo,tdgggbbobuoooubbbbuooobboboooobbbog. oo
gboogobodbogobuodb,gbbooboobboobbobooboobobon,
gobb,0bbobbobo,bbbuuoooogobbbbbbuouduo. oogoo
O,HOTSOO0DO0ODOO0ODOODO0OD0DO0OoOoooooooon, CateOBJ OO ODODO,
gbobbuoooobbbuoooobbboooobobobood.
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10 o

gooo,gbbougdgbobo,gobbob,o0,buoobbbouooobboaon
g.o0boboggobbobooooobon.

1.1 O0O0ooooogoo

gboboogbobbduooobb,ogb,ogobobbuooobbo,obbb,ol
googgbogobuogbouogbbuoob,goboo,bogbbuoobboob, o
gbogbobuogbbodbuoooboboobb,oboobboobboobbon.
gobobobobuoogod,gd 1o, bddgoooo,oobbobbuoooon
gbobbooggod, bbb bbbuoooobbbbuooon. oo
g,buoggob,ggobbbooogobodgobbobooob,bogoob,uon
gbbboogobbbooobbbooan.

gbouogobogobuogobogobuoobb 1o, gbboobooooboon
gb.ogbogbbobbodb,bbuogbooboob,gobogbboob. o,
gobobooooobooog,obbbugooboboooooboboboogo. o
gbobo,boguodgobobbboodgogg,obbbououoooobbbobuooaon
gooboboobo. bobddg,gugooooobbobbbodoogoooo, o
gbobbuooogbbbuoooobbboooobobbood.

gobobobobobobooboo,ooboobbbbbb,gooooobbobbb,0odod
g,buogobbuogdbouodg,bbggobooggb.buoobbboag,bbdo
gbobbggboboogbbbooob,ggdbboobobooooobobogooobogao
gb,dbboobooobodg,bobobooob,gbuogobuoobboobbon
goood.

gbboogdgbbugdgbbuoobouoogbbuoobobo,obbooobboad
gbobogg,dggobbogobbooobbuoobobbuooobobuooboobbao
gobbbobbooodgd. ogod,ooooobbobb,bbbbooooooon
goobboooogbboobooggo,gbbbbuooooobooboboa,ooon
gbobbuoooobbbood.

godgouodg,gouobbbbbiodoodbooooooooobbbbbn
godgood. gouooob,bobbbbbooooooouooooobboobobiboon



CafeOBJ [1)[2]000. CafeOBJ 00, 00000000000000 (OTS : Observa-
tional Transition System) (3|40 0000000000, 0000000000000
gbboggbobooobbooobbooobbo,0bboobobboobbbao
00000000000 (TOTS : Times Observational Transition System) [5]. OO O
ooo, Torstcobooboooooooboooooooo,0bobobooboooobogoo
Oooo0obo0oboooobo0oboboboooboboobobo. bobobgo, oD OrTs
000000000000, 00000000000 00000 OTS (HOTS : Hybrid
Observational Transition System) D00 O000,200000000,HOTSOO0O0O0O
OO000bO,CafeOBJ DODOODOODOOOOOOODOODOO.

Oobooogo,boboo0ooooooboo,gorsgooooooooooooonD. 0o
gboodg,bggbooobuoob,gbbooobuodgbbagbog,boobbon
goobboogoogooobo,gggoobobbouoooobooboba,ooan
gobbbobbooodoood. oggoob,bbbbobboo, 0000004
OO00000DO0bO0obO,b0b0b0ob000bO0ObDOnD CafeOBJODOOODOODOODO
go.

1.2 0O00O0O0O0OO

gobod sbououdgob. oo, buggobuooobboooooboon
go.

g2000,000000000000o0obob,ob0,goobbobbobobooodd
gobbbobobooodg,bugoooooobb. bo,bbbbbooooooan
0000 CateOBJ OODOO0OODOODO. OO0, CafeOBJ 000000, 0000000
Oooobooo orsgooogoo.

O3000,0000000000000000O0TSOO0O0 HOTSO,OOOOO
gbobboodgobbbooobbbooobobobbuooobn.

04000,20000 :0000000(0O0O0000O0OO),00000,000R0O
HOTSOOODOODOODOO CafeOBJ DODODODOO,00000,00000000
gobobogoooo.

Usuud,gggdgobobbobbooduoog, oo, obbbbbboodgdago
goboboggoobogd.



20 OO

gou,bogobudgboodgbogb. bbb, gobuodgbbooboobbo
goboggoboogobbuoooboboooobob.oo,boogbuooobobooa,
OO0000000000oDOg cafeOBJ ODODOODOO. OO0, 00000000000
OO0D00D0O000000oboboOoD OoTSsgboo,oTsSg CafeOBJODOODODOOODOODO
gbo,boogdgobboogooobon.

21 0O0O0oooboogn

goboboogooob,bobuogogbbbobodooooobo,bbobuoooan
gboboboooobobbbouoooobbbooog. obboboa,gbbbbdaoan
goboggboogbobuogbbogbob.ogobooobbuoobbuoooboon
gb,bbouuodgobobboodgooobbb,buouooooobbbobuoooon
goobboooogbo,bbboodgooobobbouog,gobobbobuoooon
gobbobobboodgd. g,uguougggobbbobobobododguoog, oo
goobboooodg,obbbodgooobobbouooo,obbbobuoooon
gboboo.goboboogbbog,bbogdg, bbb, oboboodgoobobgo
gooobdad

2.1.1 0UO0OOO

gbuogboobuooboogbuodgob 2b00bbodo.boobboobbod
goboogoob,ggbbugobboboooobboogooog 20000, 00
gbobobbodog,ggbobbbooogoobbbobog,gooobbbbouooon
goboggob,gdbobuoggbou. g, puogobbuoogbooba,bbbbdgo
gbobobbuoooogbbobobbooooobobobbooooobobbbboooaoon.
0000000000000 0000O0ooooo [6).

gboooboogn
gbobbboooogobbbbuouoobbbboooooobobboooooon,
gboboggoboogbboo,gobbuodbboogoboogobobogooogao



OO0, well-posedness D D00 DOO0OO00O0O0O0O. DOOOOO,00000000000
gobobooooobobobo,gubobbbuooobobooooboboob.bbooon
gbogbobodbooobuodgbog,booboobbogbbobboobboan.
gobobooooobboooggooboooouobooboooo. goo,bbooon
gbobbuoooobbbuoooobbboooobbob 200000.

goboogdgon obbooobogobbuogbbuoooboooboboo. oo
gogbob,ggbbuodgbboooobbuooonooboogon
O[70O,0000,00000,0000000000000000
O00000oooooooooo [8).

gooooddg gboogbuogbogboobobobooobobbobboon
. goodgobbodoooobbbbduoodg. ooooon
ggbobood,buggbboggoobooobobooogon
ggbbobuoogbbbodoooobb,guoobbobuoogn
O00000000000O0000ooooo 9.

000 200,000000000000000000000000000000.00
0000,00000000000000000000000. 00000000000
0000000000000000000000000000000. 00000000
0000000000,0000000000000,0000, Bemporad O Morari O
0000000000000000000000 (MLD)OOOOO00O [10]. MLD
0000,000000000000000 HYSDELOOOOOOOO 000,000
0000000000000000000 [11)12).

gbobobooogon
gbhboogdgobugdgbbuogoboooobbuooobooooooba,bbuodan
goobbbbbbobbogoooooooooob. bbbobooboooooooooaon,
gbobobooooobbboooooboboo,gbbobooggboboboooon.
OOobooooooobooooooooooD,oboo0obooon, “eek”00og, 0000
0000 10000000000000, Brandin 0 Wonham 000000000 [13].
gbobbuoodgobobobooobbobo,gbbbuooobbbbd 20000,

z=1

gobbbobboouooooobboob,.00b00bbbouooooobbn, o0
gbobodogo. bbouoobbobuooobbbuoooobbo.ooobbooon
Uzs0dogoggbbbobbbbugogoooboboobbo. booooooon
O000000000000,000000000000000000 4. 000,000
gboboggbobogbobogbboogbbuoodbboobobuoogbooooboo. o



gboboo,0bbudgbbuoodgbobboobobboobbboogbbuooobbgo
00000 1) 0000000000000. 00000000 oooOooOoooooooo
gbbbuoooobobboooobobog.

gbhbogdbboggbobooobobboooboooboo.gbboooboon
gbobboooobbbuoogbobobooobuooobobboooo,bbaoan
gobobbobbu,gggggougoooobboobobobod. ggobboobobbodago
g,booogn.

ggon gogbbda,bbuoodbbuooobboodgb,oobbboo
gooooobbobobobbboodugooooon. oogoo
gbuodgboobuoobobboobobobob,0obodgbon
gbouodgoboodgbooobao,gbodbuogbugboooan
gogoboobbbobbbbod. bbbobodoooooon
g,0ogdbboogdgboogoboo,bbbuooobbao
gbobod,gubogbbouogobboobbuoobuadgbon
gogbob.obobodg,gobbbougogobob,ooan
gogbbuoog,uoggbbuooobbog,bboobbbuao
gooo.

ggbooboooob oboobbobogoooo,boboobbbobooobbbobbobn,
gogbbbbooooobobbbooooobbbbuooon
g, ggoobbb,bbdggogg,oobboobobododogo
gogbboogoobbog,bbobbuogbbodg,bbbood
gbouodgboodobuooboboboobobobobo,bogobad
gogobobobbbobbbbuouduoood. goooooo
gogbbuogdgb,ggbbuooobbooogbboo,bbgo
gbuogboboobbooboobooboob,bbobbod
ggoboooggd.

00000000000000000,00000 (safety) 000 (liveness) DO 0. O
gobob,ggobooogooobbuoogooboobooooooob.oaa,

e 0ODOOO0OLO,bDO000DLDDOUOLOOODDLDOOO.

e 0,00 v00D0DOOOOODLODOOOOODDOO.

googbog.bbdgbuogboob,gobboooo,buogboobbooban
g 1gogd,gooobbbobod,guooooobbobboooooon,
gbobobooooobobooooobob.booooobooboog,gbobobboooon
gbobbuooggbobbuoooobbbo.ood,



e 0D OOO0ODLODLDOOOODL,bDO00DLDDLDLDOOOODLDLDOOOOD

e 00O ¢tOUIDOODODOUDO,0DOeO,D0DDUODOODOODOODOO
tooggo.

gobooog.
goboogg,bbuggooooobobbogoobbboooobobooooan
000000 [16. 00000000, 000000000000000 1000000
gobo,dgggbobogguobbboooobobooooboboboooo. o
gbobo,bboooodgobobbboodgooobobbbouooo,obbbbuoooon
gbobo,dgdgbobobduooobbboadan.

gobob,bdgogobbobboooobbbbooooob,bbbobuoooan
g, ggooboboobbboougooooobo. oobbbo,bbboboooooon
goobbbo,bbbbboogbbbbbbbbbotbooooooog,ooooon
goobogooboo. g, bboboogoobobooogooog.

2.2 0JOOOOO CafeOBJ

gbobouogo,bbouogobbbuogoobbbbuooo.gbbboooan
gbo,dggdobobdogoobobuoogobob,goobbboooobooo.

goo

gboogdgbb,gbbbogbboogbboodobbooobbooobbodon
gouogbogo. bggbuodgboobboobogbuoobbooboooooboan.
gboodgt,ggbugbboobuogbbooboobbogbbobboobboan,
gobobuooooboboooobobog.

gooo

gb 2000doboboooobobobdogoboboog,bboog,bobboaf
gboboboooobbbooooo,bbuooobbboooobbbodg. oo
goog,ggbogboboobodgbogbboobug.bogbbo,boooban
go,gobbbbbtbodggoogboob,bbbbbuouoooobobboboogo
goob. obobo,bbbootoduoooo,oooobboobobbooooooon
gbooboboodao.



CafeOBJ

CafeOBJ O, 000000000000 DOOO0,00000D00000D0000O00O0O
0000000000 OO00000D. 0obo000do,00000ooobOo00oOon
O0000000000000. 000000000000 (visiblesort) 0000000
O0000000,0000000000000 (hiddensort) 0ODOOOOODODODODO
O0. CafeOBJ 00 00000O0OOOOOO0OO0OO0OOOOOOO. O00O0OOOOOOO0O
0000000000000 0. 0oobo0o00ooooo0o0oooooooOoooo.

mod! SIMPLE-NAT { -——gooooooo
[ Zero NzNat < Nat ] --00oooa
op 0 : -> Zero -- Nat DO QOQooooon
op s_ : Nat -> NzNat -—— Nat DO QOQOQOQ4
op _+_ : Nat Nat -> Nat -- Nat UUogang
vars M N : Nat . -—- Nat OGO QOQO0O
eqN+0=0N. - 0o0ooooooo
eq N+ (s M) =s(N+M. --goooooooo
} --goooooaad

mod* COUNTER{

pr (SIMPLE-NAT) - 00b0obooo
*[ Counter ]*
bop value : Counter -> Nat - 0o0odooooon

bop increase : Nat Counter -> Counter —— DO UO0OOOOOODN

var C : Counter
var N : Nat

eq value(increase(N,C)) = N + value(C) .

02100000 NatOOUOO Peano DO OO, 0000000000000O00



—— Reduction of 1 + 2 = 3 (For SIMPLE-NAT)

open SIMPLE-NAT --dooooooooooa
red s (0) + s( s(0)) . -—goooo
close - 0000000000

——————— oooooooooog ------
[1]: s 0 + s (s 0)

-—-—> 5 (s 0+ s 0)
[2]: s (s 0 + s 0)
-——> s (s (s 0 +0))
[3]1: s (s (s O + 0))
-———> s (s (s 0))

s (s (s 0)) : NzNat

-- Proof score of associativity (For SIMPLE-NAT)
open SIMPLE-NAT

ops i j k : -> Nat . - Jjdoooooooon
-- Base Case .

red i+ (j+0) ==(i+3j)+0. --00oooog

-- Induction hypothesis .

eqi+ (j +k)=(@H+j +k. --0oooooooo
redi+ (j+ (k) ==@G+3j)+ (k). —-0000000

close

e 00000000000  ——--—mmmmmmmmmmmmmmm e

n n n n K &K K

R R

- ooon oooo

[1]: i+ (j+0)==(@GA+3)+0 | [1]:i+ (j+sk)=="(@G+]) +s

——=>i+3j==(1+3)+0 | ===>1i+s (J +k) ==@{H+]j)+s

[2]: i + j==(i+3j)+0 ' [21: i +s (j +k) == (i +j)+s

——=> i+ j==i+]j | ——=>s (A + (j +k)) == ({1 + j) +

[8]: i + j ==i+j | [31: s A+ (j +k)) ==(@G+]J)+

-—=> true | ===>s (1 + j) + k) == (1 + j) +

true : Bool | [4]: s ((A + j) + k) == (1 + j) +
| ===>s ((1 + j) +k) ==s ((1 + j) + k)
| [6]: s ((A+ j) +k) ==s (L +j)+k)
| -=—-> true
|

true : Bool

02214+2=30000,0000000000000000




CafeOBJ 000000000 (DOODODO)

mod {!,*} “module-name” CafeOB) OOODOOOODODOOOOOOO. OO
o0 medJ 0O, 00000000OO0ODOOO0O
00000, “module name” OO OOO. OOOO
0000000000 { “module element” } 00O
0. CafeOBJ OUOOOOODO 2000000000
gogoooooo. rgogobooobouooooo
guobobogoobboogo, ggoboouagaada
go,doboggoboooobobo. gobogo
U, xdbggoboboooobbooooboga
oo, bodogguooog,booood
guoooobbbbbbuooooooooo.

pr (“module-name”) g0oooboooooobooboo. ooboo
O000000O0o0ooOoOoooooooo.ooo
OO0,000000000DOO00C0O0DOODOoO
OO00oooooooooogo.

[“sort-name”] goooooooooooooooodg. ogoo
00, [“sertname”] OOOO0O, OOOOOO
*[“sort-name”]l* 0O O0O00O0O. OO CafeOBJ O
0000000000 (partial order set) O 0O 00O
O0oooooooO. [“subsorts’< “supersort”] O
O000000,000 subsort DOOOO super-
sort OO0 O0Ooo0oooooon.

op” symbol” :"list of sort”’->"sort” OO0 O0O0O0ODOO0ODOO0ODOOOOOODOO. O
gooodooooouooobb. cpuutonn
ggoboboooo, : dduduugooooboobooo
(arity) 0D O00O0OO0OO. ->000000000
00000 (coarity) DO00O00. 000O00OODOO
gbodoboogobobobobobob_obo,ugon
ggobbobboooooobb.ooooobooo
ggbbobobobuooobboodobbooanbn
Udd. Jdddooooooodgd,vep
ugd. bogogogobboobbouooobobon
ool ops U OMO.




var “name’: “sort-name’ . Ogo00Oo00o0oooOoooooooooooooo

eq “term” = “term” .

-- “comment’

gboudgbb.var00O4g,00b0b00obboogn
gd. : ggooboobboogooooobooboo
g.og,bgbugbodgboobuoobobn
gbb0,vars UOOODOOOOOODOOO.

OO00000000bO0obOobOoDog. CafeOBJ
goodggooooood,bbbobbbibn
gogoooooo. bogooobodgboog,n
gbobobooogoboo.

gobooo

CafeOBJ 000000000 (DOO0)

open “module-name”

red “term” (== “term”)

close

“module-name” 0O O O0O00O0O0OO0OOOOOOOOOO.
U000 closeJ0O0O00ooooooo.ooooon,
0000000000 “module-name” OO O OOOOO
goo,000o00ooobobooboooboo.o,o0go
000, oplops) “arbitrary operator” : => “sort-name’
gooooooboobobobooboobooobooogo
o00o00,00obo0obooboooon.

gggdggooooobobbbb. gogaa, oo
gobbobobobooobbbbobboboooa,bbbobobbb
gogodoooood. ob,00 2000004gg, o
gbboggbbuodgbbooobboobbobogbn
O0,CafeOBJOO00ODO0O ==000.000,00000
gogbboogobbooobbo,gbboboogoo,
gogbobogoobooboogoo.

open U UOUOOOOOOODDOOOODODDDODODOO
goo.

10




Counter

Increase \Value

\( Nat

0 23: 0000 COUNTER OO0

0210 Peano DO OO OOO,0bdbobobooboooooboboboboonbg
gbbbu0o0dnd SIMPLE-NAT, COUNTER U U U .

SIMPLE-NAT

COUNTER

SIMPLE-NAT U U UUODUODOOO Nat UDOUODOODOOOODOODOO. Nat
U,000000000 Zero, NzNat UUODO. 00O O0OO0OOOO
gbobgbog,bogobod.s _gbbudgb,vatd0oogoon
oo, NzNat UOOOOOODODOOOOO,0000000000. O
gogooboobbobobb 20000000bbbbobb. bbbbob
ggbboodgobb +b,00b0buoodbobuooooobood, b
gogbobbbuogao. bbbuoooon,bb equobon
ggb.o0b0,vat U000 M, NOOODODOOOOO. Zero OO
gboboggbuodbogbbogbodgbbd, sSIMPLE-NAT OO, 000
gooobbbD. NzNat U Zero UUUOUOOOODODOOOOO. OO
gbobogbogdgb,Nvat 00 NzNat UUOOD0O sOO0O0OO, 00000
ggbobooooooboo.

000D Counter OO DO OO SIMPLE-NAT OO DDOOOODODODO
U COUNTER U D 230 000000O0O0OO0OO0OO0O0O.O0000O0,0
goboobobooobboobbuooobbooobbo,bbooob
0o0ooboboobobooobooooooobooobooooo. o2
Ud,b000dd,counter HOUODDODOOOO value DOOOO, OO
OO0, Counter U OUUOOUOOOODOD increse JOOOOO. U
UeqUD,000000DOO0DO0O,00DO0ODO0ODOODOOO
U.00000,00000 increse U0 Counter U value I, increse
gobobtboooobobbuoooobbbooobobboooo.

11



0 220,SIMPLE-NAT O OO s(0) +s (s (0))DODOO,000000O0O000003
O+00000000000000. 000,000 ooo0doooooooooon
00000000000 0o0goooo. s(o) +8 (s (O))OOoOOoO,022000
Ooooono 1] ~ @Bl ooboooooooooo,oo0ooo0oo 3000 s (s
(s 0)) : NzNat OOOOOOQOO.

goboooouboooooboboooo,boog,boddryat oo og i, j,
ko, oottt oooooouooooooooog. 2200,k
O000000.000000,x0 SIMPLE-NATOOOODOOO oOdOdOoOoOOOO
oo, bouduouou, oot k0o ooooooouoouoooo
0o000d,x000000 sk000dd,0d0odoooooboooooooooon
god. oo, gouooooootuouo,u2200do0dououo. oooooo
OO0 true 000, 0000000000000000. 000000DO0O0O CafteOBJ O
ooooooooooo,gonoooooooouooooooooan.

2.3 00OO0ODOOO (OTS: Observational Transition Sys-
tem)

000000 (00 OTS) O, CafeOBJ 00 0000000000000000O0O
0000. OTS00000000000000,0000000000000000 7Y
0 000000000.00000000000,Y000+00000000000.
000000000000000000000000000000000,000000
000 YOOOOODOOOO,00000000000000.0TSSO0000 3000
oooooooo 3.

(0TS §=(0,7,7)000 |

©0:00000 0000 YOODOOOOOOOO0OOO0O.000 0€O
0,0000Y000000000000000 DPOO
00 o0:Y—DO0DOO.0TSSO0000O0 2000
0 v, €eYOOOO (y=swv,)000,

(01 = 5 1) ©F (Vo € O.0(vy) = o(vy))

o00oO0ooooobo. bob0,=000000 o000
gogbboooogbbbuooan.

7:0000000 goooooo.zcyYyooo.
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T.000000000dd o000 reT7TO,=s000000 YOOOOOO
0o,
7:Y¥/=5s—>7"/=s5s

000.0veYTOOO,7(v) 0,000 r([v]) 000
gogooooon,»b 000000 0O0O0O0O0O.

O7reT7 0000000 ¢ : 7Y — {true, false} 000
gogdut. e, oo bboooogg.

Vo € Y.((e-([v]) = false) = (v = sT(v)))

ugbb,0b0 000000 not 000000 000
gobbooggobboboogooo.

OTS 00O

000000000000000, 04y...y04,, Tjys T, (mym >0) 00000000
000O000. 000000, k€ Dy (k€ {i1,...im j1,..5,}) 0000000000 Dy
00000000000, SO0000000 3000000000000 wy,vy,... O
oo.

000 v,eZ00DO.
e00O0 Oie{0,1,..} 0000 v,u=s 7(v;,) 0000 77 00000.
e(000)0re70000,vu=s 7(v;) 0000 ie€{0,1,..} 00000000

gobbboobo,bboboudgooooobbobobobbuouoo. ooooo, o
goobobuogg,bbdgoobbobuoogan.

goobdad
Oo0O00DhveT OOOOODOO SODOOOOOOOOODO. SOOOOODOO
oooood R, 00000.

goobdad
gbooud,uggboobbuoob,gogboobbobbooboooboobn,d
gobbuooogbbobuooo.gbbboooobobuoooobbooooooo.

invariantp < Vo € R, .p(v)

O00,000000000 7v/=s00000000 p:7Y/=s— {true, false} O
O000,veY 00000 plv)y 0000000000000 O0O0OO0 v 0O invariant p

13



O00000000. 000000000000000 O xO0000, (invariant p) O
Vx.(invariantp) 000 000.

orTs oo

O0000o0ooDOo Oorsbooboon CafeOBJOOODOO.

ooog T

ooogoo o

goooooo 7

ooooooooogo 7T

oo Yooooooooooob.ooo,sysdonoo
goodooboobooboobooboboogn, x[syslx
gogboobod.

SOb0nd o 0 CafeOBJUDOODOODOODOOO. ODOO
gobod pooooboboobob p,gobbogooon
go,0boboobobbobboobooobgo.vio D
goooooooboo,v;0 D, ogboooooon
oobooobooboobooboogn, CateOBJODOOODO
gogooobod.

bopo: SysV,-> V

gbbod,ggboobogboobob,bboobobod
OO0000. 000 mitel00D00O0O CateOBJ OODO
gogboobod.

op init : => Sys

000,00 00000 f(i) 00O0O0O0O0O0O0O0OO
0, CafeOBJ OODOOOOOOODOODO.

eq o(init, X;) = f(X;)

000 X; 0 V00000 CafeOB] 00D0O0OO,
f(X) O, f() 000000000,

SOooo0od ,00o00ooocoooo. 000 Dy O
gogodgoobbo,bbbbobobbboogooooon
od.v;O0 D;,000o0bodooooooooooood
gbobooodgbobogo.booggboobooobboob,
CafeOBJODOODOOOOODOODO.
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bop 7 : Sys V; => Sys

gubooodoooodoodoooo ooood
U oy dbogogboabodoooog.

ceqo(t(W, X;)) =e—7(W, X;) if ¢ — 7(W, Xj)

O00 WOoOODo SysO CafeOBJOOOOO, e—a(W,
Xj)DDDDDDDDDDDDDDDDDDDD o; 00O
000000000000000 CafeOBJ OOODOO.
C—CL(W,X]')DDDDDDDDDDDDD.DDDDDD
O OoOTSooooo,o0ooo,o0ooooooa.

opc—71 : Sys X; -> Bool
gogbooboogb,
eq ¢ — 7(W, X;) = conditional terms

ggobooobo. bobuooogogobobbooooon
ggbboboogbobboooobobodg.

ceq o(t(W, X;)) = o(W, X;) if not ¢ — 7(W, X;)

00 not DU UOOOOOUOOOUOOOO.

OTS 000 invariant J O 000

SO invariant p 000000, SO0000O0OO0OO0OOOOOO0O0OO pOobOO
goddob. oo, jggouoboobbbbooooooobbbbouooo
O00. 000 imvariant p 000000000000, 0000000000000
O00,00000000000000DO00O00DO0DO.0D00O0000,00 invariant
00000000000000. 00000 invariant 0 invariant p,(k =1,..d) 00O
I A 0

00, p(l=01,2.4d000000000000000. (00000 IN) 00O
gooddd pbbbobooooogooo.

op po : Sys Vy => Bool

op pq @ Sys Vg => Bool

15



Oo00 Sysgooooog,vo,p0000b0oboboobooooobobobgn
gb,buogggbobogguobbbuooo.obbobboooooobobboooon
gobooboogoogno.

000 wioooo Sys CafeOBJ OODOO0O X, 00000 VOODOODODOoOooDOOO
0000 CafeOBJ OOOODOOO.O0DOOO INVDODO, V000000000000
gooooooooooouoo. gnouoobooonooooooon 000, 00,
00000, p(=py) 000 invariant O inv, p(k=1,..d) 000000 invariant
O lemk, OOOOOODOO.

O00,00000000000000 (00000 ISTEP)00O000. 000000
O00,20000 w,w" 00000, wDO SOO0O0D00ODO,« 0 wOO0OO0OO
doooooooooooooooooon. oo ooooooooooooooon
go.

op ustep,, : Vo —> Bool

op tstep,, : V4 => Bool

eq istepp, (Xo) = po(w, Xo) implies po(w’, Xo)

eq istepy,(X4) = pa(w, X4) implies py(w', X4)

implies 0, 0000000000000.
000, invariant p;(l=0,1,..d) 00 000000000000.
00000000,p,00000000000000,00000000000000.

open module-name
red p; (init,x;) .

close

gbobouooggobobuoogoooobbooo. gbbobooooo,boooaf
0 (0000000000000O0DO)000, CafeOBJ 00000000 OOO,000
gobobboooogoobo,bbougooob,bbouooooboboobuoooon
gobobobooo,bboobodgd,dddaestep UO0O0L0DLOOOOO. ODOOOO0OOO0OO0
goooggo.
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open ISTEP
goodoooooooo
gooooooooobobd
(00000O0)00oooooooo
equ' =T1(w,x;) .
red istep,(x;) .

close

gb,u00db rgobbooobobbboogbbo,gobbbuoooobboaon
goboboboobooo. oo,booddg,ggooooobboobbooooooon
O0.0000000D000,00 ' 000w00000 000000000000
Oooodooo. ;0,0000 V;00000000000000000000d. 0
00 istep(;) 0000 0. 0000000000000 00O (D000 true) DO0OO
gobobuoooobobuoogo.bo,ggobooog,

OO0 1. 00OO00OO0O0ooooooOoooooood
002 0O0OO0OO0OO0OODOODOOOOOOOOO0
00 3. SO invariant p, 0000000

Oo0o000o0ooOoOoOO0OOO0OOO0OO0. 000 (00 2000000000 O0OOO

0000000, 00000 (0: LEM) 00O, O, istep(z)) 00000, O LEM

implies istep,(z;) 00O 0ODO.
orsooobo,boboooboobobooboooooon.

OO0 : INCDEC
INCDECO,D024000000,2000000 Inc, DecODOOD0O0O 2000000
oboooobooobo. Ine, DecUDUOOOODOOODOOODOO.

Inc r00o0oggbooboooon

Dec :r00000oboooOo,0b0,0o0bogogon, flagooooo
U0 truedggoooogooon.

OO000DO00000ooooooooooon.
goon x =0, flag = false

00 me 000000, flagOd true 0O 0.
dec00ODOO0O0O, flag O false O OO.

O00,0000000000 invariantpO,p=(x>0)000.
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mec me dec

ff f:t f:t f:t

0O 2.4: 00O : INCDEC

orsodboo,0boogoboobobobboobooooooD.

OOoooooooono Sysoooon

O O0000OO0Oo0OOo,000bo0oboobOoOn x: Sys — Integer O, flag : Sys —
Boolean OO OO .

7 0O0Oooobobbo,obobb1obboooobobbbooogn meteZd
go.

T 000000000, 000000,000000000, inc: Sys — Sys,
dec : Sys - Sys OO0 000, DOOOOOO0O0O0 e O, Gue = true, Cgee =
(flag(Sys) = true), DO O .

000000000000 booobo, 4000o0boooog CateOBJ DO OO
god,b025000. 000,pr 0000000 ooob, INT+ 0, 00000
guooooboobbbb.gooboobbbooooo,goooobbbbuooooa
x(init) = 0, flag(init) = false DO ODOOI.

00 invariant p= (x> 0) 000000. 150000000000, invariant 0 O
O0000000000DbO0b00D000,026,27000. 000, invariant p, 000
00o0oooo 10 () 000000. 000 00 00000000 po0Oooog
O, 0000000000.00000D00O0,0000 A B,CO0OD0O0OO

A= B=Ciff(AnB) = C
00000000000, “p=pandp,” 00000000, 00000000000
gooooooobn.
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mod* INCDEC {
pr (INT+)
*[Sys]*

-— any initial state

-- inc

op c-inc : Sys —> Bool
eq c-inc(S) = true .

op init : -> Sys ceq x(inc(8)) = x(8) + 1 if c-inc(S)
-- observations ceq flag(inc(S)) = true if c-inc(S)
bop x : Sys -> Int ceq x(inc(8)) = x(8) if not c-inc(S)

bop flag : Sys -> Bool

bop inc : Sys -> Sys
bop dec : Sys -> Sys

-— Cafe(OBJ variables
var S : Sys

-- for any initial state
eq x(init) =0 .
eq flag(init) = false .

}

ceq flag(inc(S))

ceq x(dec(8))
ceq flag(dec(S))
ceq x(dec(S))

|
|
|
|
|
|
|
|
-— actions | —- dec
|
|
|
|
|
|
| ceq flag(dec(S))
|

flag(S) if not c-inc(S)

op c-dec : Sys —> Bool
eq c-dec(S) = flag(S)

x(8) - 1 if c-dec(S)
false if c-dec(S)
x(8S) if not c-dec(S)
flag(S) if not c-dec(S)

0 2.5: INCDEC U000

mod INV {
pr (INCDEC)

-- declare invariants to prove
op inv100 : Sys -> Bool
op lem110 : Sys -> Bool

op lem210 : Sys -> Bool
-- CafeOBJ variables
var S : Sys
-— define invariants to prove
eq inv100(8) = (x(8) >= 0)
eq lem110(S)
(flag(S) implies x(S) >= 1)
eq lem210(S) =
inv100(S) and lem110(S)

mod ISTEP {
pr (INV)
-— arbitrary objects

ops s s’ : -> Sys

op istepl00 : -> Bool
op istepl110 : -> Bool
op istep210 : -> Bool

eq istepl00 = inv100(s) implies inv100(s’)
lem110(s) implies lem110(s’)

lem210(s) implies lem210(s’)

eq istepl10

eq istep210

}

0 2.6: INV, ISTEP U OO OO
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--1. 0ooOo
open INV
red inv100(init)
close
-- 2. Uggoo
-=> 1) inc(s)
--> 1.1
open ISTEP
-- assumptions

eq x(s) >= 0 = true .

—-— successor state
eq s’ = inc(s)
red istepl00 .

close

-=> 2) dec(s)

--> 2.1 flag(s) = true
open ISTEP

-- assumptions

eq flag(s) = true .

eq x(s) >= 1 = true .

—-— successor state
eq s’ = dec(s)
red istepl00 .
close
open ISTEP
-- assumptions
eq flag(s) = true .

eq x(s) >= 1 = false .

—-— successor state
eq s’ = dec(s)
red inv110(s)

implies istepl100 .

close

--> 1.2
open ISTEP
-- assumptions
eq x(s) >= 0 = false .

—-— successor state

eq s’ = inc(s)
red istepl00 .
close

--> 2.2 flag(s) = false
open ISTEP
-- assumptions

eq flag(s) = false .
-- successor state

eq s’ = dec(s)

red istepl00 .
close

0 2.7: INCDEC 0000000 (invioo O0)
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30 Uududtn

ooooooooo orsg,bgogoboboboobobo,bobooobooobon
gbobobooogoobbbooogobobooo. ggobooo,gbobobboooon
Ooooboooo orsocoogo.

3.1 000000000000 (HOTS : Hybrid Obser-
vational Transition System)

0310,0000000000,00000 ¢+,00000000000DO000O0 200
O00000000000. 0000000, 00000D000DO00DOO00.1 0000
000000000, 0000000000DO,00000D0000000DO,0000
00000000000 D0O0oO0oO0. o000, 000000og,oo0ooogo
000000000000 000DO00DO0000DO0DOO0oDOOoDbOooOOo.

000000000000 (0O HOTS : Hybrid Observational Transition System) O ,
Oo0oobooobooooooobooobooo orsoboooooobo. boo, oo
OO0000,00000000,00000000000000000.00000000O
O0000,00000000000000000D00DO00DOODOOOOO.OO00O000
OO00D0000000000DOD0o0oooooooog.

3.1.1 OO

HOTSOO,00000000DO0ODO0OO0O0OO000bO0obOobDOobDOoo1bobOoo
gboogbogb.bog,1ogobogobog,bodbbogboooboon
gooboogobb.obo,1obogggobo,1b,boggoooboboooan
gboboboogd. gobbobuooog,bbuooobbboooobbbboooan
00000 e(e>1)000000.000,i(i=1,2,....a) 00000000000
gboboboooobi n, 000,
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I
I
I
I
I
I
I//
r

I

1

g 3l:0buggooboooogn

HOTSOO,OTSOO0O0O0OO0O0OO0 Yyooooooooooooo. oooo, oo
OOooooobo Yoooooobo,obooooooboob veYOOooooo
OO00oOobOob.HOTSSOOOoOooooooooooo.

HOTS S = (O, 7, T U {tick,Jr e R*} ) 00O |

ooooo o
gobooogobboooooon.

O=DUP

poooobooobooboboboo.bob 2booboobDooboobooo. P

oboobooboobooboobg,dpePU

p: YT = C

O000000.000CO00000000000000 RU {oco,—0c0}000.
ooooo,boobooobooboooboooboobb,00b 400000

goo.

active! T — {true, false} , where i € {1,...,a} ,je{l,..,n;}
value! T — RU {0, -c0} ,wherei € {1,....a} ,j€e{l,...n}
boundary! | ' — R U {oo, -00} , wherei e {1,...,a} ,je{l,..,n;}
now Y — R*

22
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00004 jO0000,0000000,0000000000000000. RTO
gbobboooobbbuoodo. bbuouoobobbooooobboooobn.
200000 e YOOOUODOODO,120000000000D00DODO0ODO, DO
gbobobobudeobbn,

(v, = s v3) ¥ (Yo € 0.0(vy) = o(vs))

goboboogob,2bbdgooboooogo. bbb, gobbbooooon
gobooooogno.

ooooooo 7
goboobuoogg,12g00boboog.gbob,dd

now :1¥ — RT

gobooobooon.

0000000000 T U {tick,|r € R}
00000000,120000000000000.000000 HOTSOO,OO
0000000000000000,000 2000000000.

activate! T —7 ,whereie{l,..,a} ,je{l,...,n}
deactivate] | T — 1, wherei e {1,....a} ,je{l,..,n;)}

gbob 20000000000000000040.

00000000000000000, {tck, |r € RT}00000000O00O0O0O
goboggbuogobuogbboobooob.dd now DDOUOO0LOOooonoooon
g,b0booggoobogd.

HOTSOO,00000DO0O0O00O0O0oOOobDoboooo.

delta’! R* — R ,whereie {1,...,a} ,je{l,..,n;} ‘

gboboggoboogbbboogobooobbog,bbooobobuooooboobgao
goo.
HTOSOODO,000000,invariant 00000, 12000000000.
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4 v VUL Aduvi LAy

. aclwe; -

value!

deactivate] .,

0 Time ¢

g 320000000000

3.1.2 0U0O0o0ooooogd

HOTSODO,00000 «+0OO000OD0O0OD0O0ODO0OD jO,000400000 200
goboo,1gb0bouooogoboog.

valuef gbobobood youooabobodg.

value!™™  O0DODOODOO jO0000.

)

boundary! 0000000 j000,;0000 vaelue 0,000000000

goo.
activeg DDDDDDDjDDDDvalue{DDDDDDDDDDDDDDD.
activatef DDDDDDDjDDDDvaluegDDDDDDDDDDDD.

deactivate! gobobuooogbob yjbobobbuogogbobod

3

delta{ gobobogd yougoboboogon.

goooodood32000.
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g, gggoooo jDDDDDDDD,activatef,deactivatefDDDDDDDDD

0000000O00.(w € Y,r € R)

activate!, deactivate! 000D, 0000000000000, 00000000

activate’

gobob..budggoobooggooobooooooog.

deactivateg gobobodgg gouooooo.

gobooo,goboboggooobuooogogooog.
gbbouooogbbo,ggbbbuoogobboag,bbbuogogn.

acrtivel (activatel (v)) = true
acrtivel (deactivatel (v)) = false
valuel (activatel (v)) = value]"™""
valuel (deactivatel (v)) = valuel (v)
boundary! (activatel (v)) =p
boundary! (deactivatel (v)) = (0o or -00)

acrtivel (activatel (v)) = true

acrtivel (deactivatel (v)) = false

L?tartj
7

valuel (activatel (v)) = value

valuel (deactivatel (v)) = valuel (v)

boundary! (activatel (v)) = p

boundary! (deactivatel (v)) = (0o or -00)

activate DO OO0, 00000000
dddooouodgdgd active QU
true O 0O 0.

deactivate OO0, 0000000000
000000 active 000 falsed 0O 0.

activate 10 000000000000
D0000000.00000 valuel O
value}™ 0ODODOO.

deactivate OO0 00000 0OOODOO
oooobooboboo. booobo
value! O deactivate D0 000000,

activate 0 0O boundery 0, 000000
o0o0obOoooooo r00000.

deactivate O O boundary O oo O -0o
O00D00. Oooobooooog, o
oo0oooooooooogd.
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HOTSOO,00000000D00,000000 tick, DDODODOOOOODODO.
O0ov e YOOODO tick, ODODODOOODOODOODO.

valuel (tick,(v)) O boundary! 00000
0000000000000000000.
o 00 activel(tick,(v)) = true 00 0O waluel (tick,(v)) O delat! 000000000,
o 00O activel (tick,(v)) = false 00 O waluel (tick,(v)) 000000 (000000

O0000000000)

0000,00000000000000000,0000000 HOTSOOOOOO
000, CafeOB) 00000, 00000.
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40 OO

0000,0000000 HOTS (000000000000)0000,200000
00000000 CafeOBJ00000000000.000,0000001(a=1)0
00,0000000(0000000)[16]0,000000 2(e=2)000,0000
00000000000000,00000000000000 ([17]000.

41 0OO0O0OO0OO0 (DODOOoogOo)

oooooooo,0b0e0b0b0bO0obObO.DOb0ODObOO,b0bODLO
gbobooogdobb.bgggbobuogoobb.oogoboboooobobooon
oog,00booboboobo.booboobobbooboo.oobRrRO0ODLO
gobobogooobobogd.

e DOODOM e ROODODOO.

e 000¢ < 70000000 on00000000000000.
e 00D ¢ >8000000 off00000D0O0O0COOOCOODO.
e 00ODOD0 onO000,00 60000 #<82000.

e ODODOD off 000,00 6000 6>68000.

e 00O (on)0O,0006 = —6 + 10000000000.

e 00O (off)00,0006 = —90000000O0.

o O0O0D00,0000 off,0 = 75000.
0410000000000.

HOTS ODOOOOOOO
3000000 HOTSODODOOoooooooooooo.
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75 +

04+ T
68+

Q

U 41: 00 0000000

HOTSOODOODOOOO

e HOTSODODDOODODUOODOOODOOD 1Ob0bODOUODbODODbOD. OO0,
o= 1000.

ea =10,on0off02000000000000. 000 =2000.

| S=(0,7, T U {tick,|r € R*} ) |

ooooo o
20000000000,
active! T — {true, false} , where i € {1,...,a} ,j€e{l,..,n;}
value! T — RU {0, -c0} ,wherei € {1,....a} ,j€e{l,...n}
boundary! | ' — R U {oo, -00} , wherei e {1,...,a} ,je{l,..,n;}
now Y — R*

goboboogogbobogad.

activel x activet ™ active’® OO O.
x active; ™ 000000 on (00D0) 0000000000000,
« active?”) O off (00D)DD0O000O0OOOODOOO.

value! x valuet™  value’® 0O 0.
«value,™ 000000 on D000 #OODOODOOOO.
«value’®? 0ODODDOD off 0000 OOODOCOOOO.
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boundaryg

now

x boundary:“™ | boundary?*! 0O O.

« boundary,® 00000 on 000000000
« boundary?®) 0O0DOOD off00DD0ODOOD.

ggbooogooooo

ooooooo 7
2uibbobuooogoboobod.

0000000000 7T U {tick,|r € R™}
200000000000,

activatezj YT —7Y ,whereie{l,..,a} ,je{l,..,n}

deactivateg YT —7Y ,whereie{l,..,a} ,je{l,..,n}

goboboogogbobogad.

activate]

deactivate!

* activate:™, activate’™ 0O O.

x activate:®™ 0 ,on 000000000000O000O00OCOO.
00O000,250000000, “valwe®? <70” 0000000
oo.

x activate’®) 0 off 00000000000 O0DOOODOOOOO.
00000,20000000, “values® >80 0000000
oo.

* deactivate}((m), deactivate?(off) goo.

« deactivate!™ 0 on 0000000000000 COOOOO0O
00000,20000000, “valuel® >80 0000000
oo.

% deactivateX®) 0 off 00DODODODDOOOOODOOOOOOOO
0.
00000,20000000, “valwe? <70” 0000000
oo.
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0000000000000000000,2000000000,0000000
00.00,000,0 value! 0000 value]™™ 0O,

smrtl(”") 0, value; 2(of 1)
on)

* value

start
x value, 7P D , valuel

god.
acrtivel (activatel (v)) = true
acrtivel (deactivatel (v)) = false
valuel (activatel (v)) = value]™
valuel (deactivatel (v)) = valuei( )
boundary]! (activatel (v)) =p
boundary! (deactivatel(v)) = (co or -00)

gbobouogobbouooobbbuoogobbbood.

activate, ™ (v), deactivate. ™™ (v)
acrtive;™ (activate, ™™ (v)) = true
acrtive}(on (deactivate}(on) (v)) = false
valuel )(actwatel ( )) = valueX*'P
valuel ™ (deactivater™™ (v)) = value' ™ (v)
boundary, )(actwate (On)( ) = 82
boundary; " deactivate, ™™ (v)) =o0

activate> ™ (v), deactivate? D (v)
acrtive ' (activate? ) (v)) = true
acrtwel( )(deactwatel( ff)( )) = false
value® ff)(actwate (0 ff)( ) = value; ™"
valueX®! )(deactwate (0 ff)( ) = valueX® ff)( )
boundaryl( )(actwatel( ff)( )) =68
boundary” 1 deactivate’® ff)( )) = —o0

delta{DDDDDDDDDDDDDDDD.

« delta)™(r) = —eT +100
« delta?D(r) = —e

godgboo,bgbogbdgobobuogoogb. g, gbd edbgbogobon.
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CafeOBJ DO DO OO0
M400000000000,390000000000O0D00D0OODOODO, CateOBJ
gbobboogobobogod.

(of f)

$ano active}(on), active%(off), value}(on), Ualue?(off), boundaryi((m), boundary% , NOW

gb420000000.

bop activel-on : Sys -> Bool

bop active2-off : Sys -> Bool

bop valuel-on : Sys -> Real+

bop value2-off : Sys —-> Real+

bop boundaryl-on : Sys -> Timeval
bop boundary2-off : Sys -> TImeval
bop now : Sys -> Real+

042 00000(@O0OOO0OO)

04200 Ssys U, 000000000 0O0O0O000O00O0O0O0O0O00O. Real+ OO OO
gbobbuooobibi. Timeval U co, —ocoUOOOOOODOODOOO.

UO0D0O0O0D0O00,40000000 init 00000000, initd0O00O0O0OO
gobobod,2rbouggbooo,d430000ooo.

eq activel-on(init) = false
eq
eq
eq
eq
eq
eq

active2-off(init) = true .
valuel-on(init) = -oo .
value2-off(init) = 75 .
boundaryl-on(init) = 82 .
boundary2-off (init) = 68 .

now(init) = 0 .

043 000000 (@OOOOOO)
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$ 0000000 activater™, activate> ™ | deactivater™™, deactivate’™” 000 O
O, 40000000000044, 45000000000, 00000, 000000
odooooooooooooooono, 0oy 4yooooooooo.

-- action activatel-on
bop activatel-on : Sys -> Sys
-- effective condition:
op c-activatel-on : Sys —-> Bool
eq c-activatel-on (S:Sys) =
((value2-off (S) <= 70) and not (activel-on(S)) and not (active2-off(S))) .
-- behavior:
ceq valuel-on (activatel-on (S:Sys)) = (value2-off(S))
if c-activatel-on (S) .
ceq boundaryl-on (activatel-on (S:Sys)) = (82)
if c-activatel-on (8S) .
ceq activel-on (activatel-on (S:Sys)) = (true)
if c-activatel-on (S) .

-- set of transition: deactivatel-on

-- action deactivatel-on

bop deactivatel-on : Sys -> Sys

-- effective condition:

op c-deactivatel-on : Sys -> Bool

eq c-deactivatel-on (S:Sys) = ((80 <= valuel-on(S)) and activel-on(S)) .

-- behavior:

ceq boundaryl-on (deactivatel-on (S:Sys)) = (oo)
if c-deactivatel-on (S) .

ceq activel-on (deactivatel-on (S:Sys)) = (false)
if c-deactivatel-on (S) .

044 000000000000 (DOODOODOO)

000000000, teck DODOOODOO0O. DO0ODO0ODO,000000 enddOO
00000000.000,0004,j0000,tick000 (26000)000000
O00.000,000000000 vwueOO0O0OD0O,000000 tickODOOODOO
0000 boundery OODODODODOOODO.

O00000,00,ttck 000000 orD00O0O0O0ODOOO0ODO,0D00D00O00O
O00000000 tick DOOO0ODOD0OO0O0O boundery OO0 0DODO0OO0DODOOO0O
oo.
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-- set of transition: activate2-off
-- action activate2-off
bop activate2-off : Sys -> Sys
-- effective condition:
op c-activate2-off : Sys -> Bool
eq c-activate2-off (S:Sys) =
((80 <= valuel-on(S)) and not (activel-on(S)) and not (active2-off(S)))
-- behavior:
ceq value2-off (activate2-off (S:Sys)) = (valuel-on(S))
if c-activate2-off (S)
ceq boundary2-off (activate2-off (S:Sys)) = (68)
if c-activate2-off (S)
ceq active2-off (activate2-off (S:Sys)) = (true)
if c-activate2-off (8)
oooo

-- set of transition: deactivate2-off

-- action deactivate2-off

bop deactivate2-off : Sys -> Sys

op c-deactivate2-off : Sys -> Bool

eq c-deactivate2-off (S:Sys) = ((value2-off(S) <= 70) and active2-off(S))

-- behavior:

ceq boundary2-off (deactivate2-off (S:Sys)) = (-oo0)
if c-deactivate2-off (S)

ceq active2-off (deactivate2-off (S:Sys)) = (false)
if c-deactivate2-off (S)

oooo

-- set of tramsitions: tick
-- action tick
bop tick : Real+ Sys -> Sys
op c-tick : Real+ Sys -> Bool
eq c-tick (R:Real+,S:Sys) =
(((valuel-on(S) + deltal-on(R)) < boundaryl-on(S))
and (boundary2-off(S) < (value2-off(S) - delta2-off(R))))
-- behavior:
ceq valuel-on (tick (R:Real+,S:Sys)) =
(if activel-on(S) then
(valuel-on(S) + deltal-on(R)) else valuel-on(S) fi) if c-tick (R,S)
ceq value2-off (tick (R:Real+,S:Sys)) =
(if active2-off(S) then
(value2-off(S) - delta2-off(R)) else value2-off(S) fi) if c-tick (R,S)
ceq now (tick (R:Real+,S:Sys)) = (now(S) + R)
if c-tick (R,S)

good

045 00000000000020000000)
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CafeOBJ DO OOO0OOOO
BLOooOooooo,0000b00b0ob0ob0o0ooooD. 0000 invariant O

|68 <0<82|

00O0.000,HOTS 00000,

68 < /\valueg < 82
| |

OO00. CafeOBJ OODOO,000000000O.

eq inv(S) = not ((82 <= valuel-on(S)) and (value2-off(S) <= 68)
and (valuel-on(S) <= 68) and (82 <= value2-off(S)))

OO0 invariant 00000000 0. O0OOODODOO0OOOOODOOOOOOOOOO.
D4.6D,activate}(on)ﬂinvariantDDDDDD.DDDDDD,DDDDDDDDDD,
ogono 300,

eq 68 < 75 = true .
eq -oo < 82 = true .
eq (-oo = 82) = false .

00000000000 tree 0000. 000000000, 00000000000
0000000000 true0000. 00 tick 0000000000000 O000O0O
00,00000000. tick00000,04700000000000000000.
oooo,

eq ((valuel-on(s) - (exp(r) - 100)) < boundaryl-on(s)) = true .

eq (boundary2-off(s) < (value2-off(s) - exp(r))) = true .

000 2000000000,0000,000000000000000. 00000
O, value OO OO

eq activel-on(s) = true .

eq active2-off(s) = true .

gboboboooobobbouoooobb.bboooobbbog,gbbbbdaodan
g,30000gagobobod. ggbobbouogoobooogon.

eq lem101(S)
eq lem102(S)
eq lem103(S)

not ((activel-on(S)) and (active2-off(S)))
activel-on(S) implies (boundaryl-on(S) = 82)
active2-off (S) implies (boundary2-off(S) = 68)

gbobbuoooobbbaod.



lem101 on,of f0O0O0OOOOOOOOODOODO.

lem102 on, 000000, boundary,™ 0 82000.
lem103 off, 000000, boundary? 0 68000

O00000004700000 Patern[1-1],[1-2],[1-31 0000000 tick O true

OO00,00000000 wmvariant 000000000 0ODO. ODO0,0000000,0

00 Patern[1-2] OOO

eq ((valuel-on(s) - (exp(r) - 100)) < boundaryl-on(s))

eq (boundaryl-on(s) = 82) = true .
—-- Namely
eq ((valuel-on(s) - (exp(r) - 100)) < 82) = true .

= true . ..(1)

(2)
.(3)

00000000,000,(2)000000000,(1)0000 3)00000000

goboobogogo.

U0 lem101, leml102, lemiO3 00U UU0OODDOUOOOLDDOOODLDOOOODODOOON,

gbobobuoogobbbogobobobooan.




-->I) 0Oooad
open INV

red inv(init)
close
--> II) 0O0Odd
-— activatel-on 00O
--> Patern[1]
open ISTEP
-- assumptions

eq activel-on(s) = true .
true .

eq active2-off(s) =
eq (value2-off(s) <= 70)
—— successor state
eq s’ = activatel-on(s)
red istepl .
close
--> Patern[2]
open ISTEP
-- assumptions

eq activel-on(s) = true .
true .
eq (value2-off(s) <= 70) = false .

eq active2-off(s) =

—— successor state
eq s’ = activatel-on(s)
red istepl .

close

--> Patern[3]

open ISTEP

-- assumptions

eq activel-on(s) = true .
eq active2-off(s) = false .

eq (value2-off(s) <= 70)
—— successor state
eq s’ = activatel-on(s)
red istepl .
close
--> Patern[4]
open ISTEP
-- assumptions

eq activel-on(s) = true .
eq active2-off(s) = false .
eq (value2-off(s) <= 70) = false .

—-— successor state

eq s’ = activatel-on(s)
red istepl .
close

true .

true .

--> Patern[5]
open ISTEP
-- assumptions

eq activel-on(s) = false .

eq active2-off(s) =
eq (value2-off(s) <= 70)
—-— successor staet
eq s’ = activatel-on(s)
red istepl
close
--> Patern[6]
open ISTEP
-- assumptions

true .

= true .

eq activel-on(s) = false .

eq active2-off(s) =
eq (value2-off(s) <= 70)
—-— successor state
eq s’ = activatel-on(s)
red istepl
close
--> Patern[7]
open ISTEP
-- assumptions

true .
= false .

eq activel-on(s) = false .
eq active2-off(s) = false .

eq (value2-off(s) <= 70)
—-— successor state

eq s’ = activatel-on(s)
red istepl

close

--> Patern[8]

open ISTEP

-- assumptions

= true .

eq activel-on(s) = false .
eq active2-off(s) = false .

eq (value2-off(s) <= 70)
—-—- successor state

eq s’ = activatel-on(s)
red istepl
close

= false .

0 4.6: 000 1 (activatel-on)




-- assumptions
-- -[1]
-- eq ((valuel-on(s) + deltal-on(r)) < boundaryl-on(s)) = true .
-- eq (boundary2-off(s) < (value2-off(s) - delta2-off(r))) = true .
-- Namely
eq ((valuel-on(s) + ((c * exp(- r)) - 100)) < boundaryl-on(s)) = true .
eq (boundary2-off(s) < (value2-off(s) - (c * exp(- r)))) = true .
-- --[2]
eq activel-on(s) = true .
eq active2-off(s) = true .
-- successor state
eq s’ = tick(r,s)
red lem101(s) implies istepl .
close
--> Patern[1-2]
open ISTEP
-- -[1]
eq ((valuel-on(s) + ((c * exp(- r)) - 100)) < boundaryl-on(s)) = true .
eq (boundary2-off(s) < (value2-off(s) - (c * exp(- r)))) = true .
-- --[2]
eq activel-on(s) = true .
eq active2-off(s) = false .

eq (boundaryl-on(s) = 82) = true .
-- Namely
eq ((valuel-on(s) + ((c * exp(- r)) - 100)) < 82) = true .
eq s’ = tick(r,s)
red lem102(s) implies istepl .
close
--> Patern[1-3]
open ISTEP
-- -[1]
eq ((valuel-on(s) + ((c * exp(- r)) - 100)) < boundaryl-on(s)) = true .
eq (boundary2-off(s) < (value2-off(s) - (c * exp(- r)))) = true .

-- —-[2]

eq activel-on(s) = false .

eq active2-off(s) = true .
----- (3]

eq (boundary2-off(s) = 68) = true .
-- Namely

eq (68 < (value2-off(s) - (¢ * exp(- r)))) = true .
eq s’ = tick(r,s)
red lem103(s) implies istepl .
close
--> Patern[1-4]
open ISTEP
-- -[1]
eq ((valuel-on(s) + ((c * exp(- r)) - 100)) < boundaryl-on(s)) = true .
eq (boundary2-off(s) < (value2-off(s) - (c * exp(- r)))) = true .
-- --[2]
eq activel-on(s) = false .
eq active2-off(s) = false .
eq s’ = tick(r,s)

red istepl .
close
--> Patern[2] | --> Patern[4]
open ISTEP | open ISTEP
eq ((valuel-on(s) + ((c * exp(- r)) - 100))| eq ((valuel-on(s) + ((c * exp(- r)) - 100))
< boundaryl-on(s)) = true . | < boundaryl-on(s)) = false .

eq (boundary2-off(s)
< (value2-off(s) - (c * exp(- r)))) = false
eq s’ = tick(r,s)

eq (boundary2-off(s)
< (value2-off(s) - (c * exp(- r)))) = false| .
eq s’ = tick(r,s)

red istepl . red istepl .
close close
--> Patern[3]

|
|
|
|
|
|
open ISTEP |
eq ((valuel-on(s) + ((c * exp(- r)) - 100))|
< boundaryl-on(s)) = false .
eq (boundary2-off(s) I
< (value2-off(s) - (c * exp(- r))))= true |
eq s’ = tick(r,s) |
red istepl . |

close |

0 4.7: 000 2 (tick)




3.0 Car 2

2.0 D' ....... -q Sensor

1.0 —_—

< Carl

0.0

0.0 1.0 2.0 3.0

048 00 :00000

4.2 0OOO0O0O

O0000,0000001(e=1)00000000000000O.0000,00000
00 2 («=2)000000000000000000000000O00. ODOODOOO,
000oo0o0o0o0oooo000 (01)0,0000000000D0O0000 (0 2)0O
000000000000, (04800)0000000000000.

e 0 1,200000000,00 {Ziear1)sT2ewrny} € ROOODOODO.

e T 0,0000000000,00000000000000.

* Iy 0,0000000000,00000000000000.

e 020,0000000000 1000000000000DOO,
000000000 ooooOo.

e 02000 2y = 2000000000.
OO0000,0200000000000000,0 200000000000000.

e 010,00 2140y = 1000000000000000000000
>000000 :00000000000000
>000000 : 0000000000000

e U 10,00 myeery = 0000000OOMN.

e 020,00 Tyeayy = 000000000,
e 010000, fyean) = —100D0.
e 020000, dypeary = —1000.

0

1,0200 1000ooooobobobbb. oo boboboboobobbo.

e [l 1, 020000000OODLODL. 0000, 00UUUUbLbLbLbLDbDbLbDDbDO.

L I e A O A A Y I O I
o DDDDD,QL‘MCGM) = 3,1‘2(6,”2) =340og.
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activel stop active activel active2
(carl)

(carl) (carl) (carl)

049 0 100000000

xo(car2)
activel active2 activel active?
(car2) (car2) (car2) (car2)

0 410: 0 200000000

oboooooooo,n0 1,0 20000000000 4.9,41000000. 000
active DO O00O0OO00OO,00 HOTSODOODOOOOODOODOOD.

HOTS OOOooooOoO
Uuggoboboobuogd,bboooobobogd.
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HOTSOODOODOOOO

e 1100 20000000O0OOO. U0, o =

2000.10000000

gob1,20000000000 200000000¢0.

e 100000000 (carl) 000000000000000 activel(carl) O, O

00000000000000000 active2(carl) 00 0.

(04900)000,

n, = 2000.

200000000 (car2) 0000000000000 000 activel(car2) O,

00000000000 active2(car2) 000 .
ggd.

(041000). 000,n, = 20

uggbboa,gbboagd.

0ooog o
activel x activet @ qetive® @ qetivel @ getive®) 0o Q.
x active] ™™ 00 10 activel(carl) 0000D000000000O.
x active: ™ 00 10 active2(carl) 00 000000000000,
x activey ™™ 00 20 activel(car2) 0000000000 00O0O.
x actives ™™ 00 20 active2(car2) 00 000000000000,
value! x valuet ™ yalue? D yalues @ yaluet @) ooQ .
« value] "™ 00 10 activel(carl) 000000000000,
 value ™™ 00 10 active2(carl) 000000000000,
s valuey ™™ 00 20 activel(car2) 000000000000,
x values ™™ 00 20 active2(car2) 000000000000,
boundary!  * boundary: " boundary? " boundarys "V, boundaryze?
ooo.
% boundary! "V 00 10 activel(carl) 000000000000,
x boundary? ™ 00 10 active2(carl) 000000000000,
% boundaryy "™V 00 20 activel(car2) 000000000000,
x boundary2®*® 00 2 0 active2(car2) 000 000000000O.
now . 000000000000000.

ooooooo 7
2uibbobuooogoboobod.
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0000000000 T U {tick,|r € R}

activate]

deactivate!

(activel) (active2) (activel) (active2) 0

* activate} , activate% , activate% , activateg
oo.
« activate, "™ O | activel(carl) 000000D0000000000
oooo.

00000,20000000, “valueX®™™? = ¢ gooo0o0

goo.

« activate: " 0 active2(carl) 0000000000000000
oooo.

00000, 25 0000000, “value®™™ = 17 0O
“gctive®® — folse’ 000D DOOODOD.

« activate) ™™ O | activel(car2) 000000D0000000000
oooo.

00000,20000000, valuel®™™? = o> gooo0oo0
ooo.

« activates ™™ O active2(car2) 0000000000000000
oooo.

00000,20000000, “vaue™™? = 22 gopooo0
ooo.

. 1(activel . 2(active2 . 1
* deactwatel( ) , deactwatel( ) , deactivate,

deactivate2®™*® 0o 0.
« deactivate; *™" O activel(carl) 0000000000000 00
oooooo.

00000,20000000, “alue, ™V =1 0goo0000
oo.

(activel)

% deactivate] " O active2(car]) 000000000000000C
oooooo.

00000,20000000, “valwe™™? =0 0000000
oo.

« deactivates ™™ O activel(car2) 0000000000000 00

oooooo.
00000,20000000, “values®™ =2 0oooOo00

41
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uo.

% deactivates " O active2(car2) 000000000000000C

goodooo.
00000,20000000, “value™™? =0 0000000
ad.
go,ggggoooooooboboooooag.
activate, "V (v), deactivate; ™V (v)
acrtive, e (activate}(mml) (v)) = true
acrtive; “e) (deactivate}(mwel) (v)) = false
valuel @D (qepipatel @D () _3
valuer "™ (deactivate; " (v)) = value; "™ (v)
boundary; “°V (activate; N (v)) =1
boundary; “Vdeactivate; "V (v)) = —oc0
activate’ ") (v), deactivate’ ") (v)
acrtive2 " (activateX " (v)) = true
acrtiveX " (deactivate? P (v)) = false
value? ™ (activateX " (v)) =1
value? " (deactivateX " (v)) = valueX " (v)
boundary” " (activate? D (v)) = —c0
boundary? " deactivate® ™ (v)) = —o0
activates ") (v), deactivatey*eV (v)
acrtives ™™ (activatey ™ (v)) = true
acrtivey ™ (deactivatey ™V (v)) = false
valueé(mwel)(activateé(acmel) (v)) =3
valuey ) (deactivateé(acmel) (v)) = valuey ) (v)
boundary,*"eV (activateé(acmel) (v) =2
boundaryy "V deactivatey ) (v)) = —o0
activates " (v), deactivater ™ (v)
acrtives ") (activateg(acme?) (v)) = true
acrtives e (deactivateg(acme?) (v)) = false
0alue2 @D (qopipatel@ived () _ 5
valued v (deactivates 2(active2) (v)) = valuel (v)
boundarys e (activatez(acme2) (v)) =0
boundarys " deactivate2 " (v)) = —oc0
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000, boundarys “™ (activate; ™™ (v)) =0 0000000,000000000
0000000000000000000000,

deltafDDDDDDDDDDDDDDDD.

1(activel
x delta, r

V() =
* deltaf(acmfﬂ) (ry = —r
* deltaé(acmel) (ry = —r
* deltag(acmfﬂ) (r) —r

CafeOBJ O OOOO0O
& 00 activet ™™ | qetive? ™™ qetives ™ qetive2 @™ 0 0 41100000
agoag.

bop carlvalue : Sys -> Real+

bop car2value : Sys -> Real+

bop
bop
bop
bop

carlboundaryl :
carlboundary?2 :
car2boundaryl :

car2boundary?2 :

Sys -> Timeval
Sys —> Timeval
Sys —> Timeval
Sys -> Timeval

-> Bool
-> Bool
-> Bool
-> Bool

bop carlactivel : Sys

bop carlactive2 : Sys

bop car2activel : Sys

bop car2active2 : Sys

bop now : Sys -> Real+

0411: 00000 (0O00)

valuegDDDD,DDDDD,lDDDDDDDDDDDDDDDDDDDDDDDDD
OooodboOo,100b0bo0oobooboobo0oooooDo,0bod veluveDODOOODO.
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ooopbobooboooboooo,b412000.

eq carlvalue(init) = 3 .

eq carlactivel(init) = true .
eq carlboundaryl(init) = 1 .
eq carlactive2(init) = false .
eq carlboundary2(init) = -oo .
eq car2value(init) = 3 .

eq car2activel(init) = true .
eq car2boundaryl(init) = 2 .
eq car2active2(init) = false .
eq car2boundary2(init) = -oo .

eq now(init) = 0 .

0412000000 (000)

oooooooooooo,d413000.00000000,000 32000000
gooboooooooogd,obogdgoon.

-— action carl-activatel

bop carl-activatel : Sys -> Sys

-- effective condition:

op c-carl-activatel : Sys -> Bool

eq c-carl-activatel (S:Sys) =

((carlvalue(S) <= 0) and (not carlactive2(S)) and (not carlactivel(S))) .

-- behavior:

ceq carlvalue (carl-activatel (S:Sys)) = (3)
if c-carl-activatel (S) .

ceq carlboundaryl (carl-activatel (S:Sys)) = (1)
if c-carl-activatel (S) .

ceq carlactivel (carl-activatel (S:Sys)) = (true)
if c-carl-activatel (S) .

.......... goodg

0 413: 0000000000 (0O0O)

CafeOBJ DO O O0OOOOOO
BbOooOoooooO,00b00b0bo0ob00b00bD0oD. 0D0b00 invariant O

U100 2000000000000 000400

O00.000,HOTS 00000,
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‘0</\value{<1‘

OO00. CateOBJ ODODOODO,0D0000.

eq inv(S) = not ((car2value(S) < 1) and (0 < car2value(S))
and (carlvalue(S) < 1) and (0 < carlvalue(S)))

OO0 invariant 0000, 00000000,0000000000000 tick 00O
oboooobooobo.obooooboooboobuoob voooo.

eq
eq
eq
eq

eq
eq

eq

1lem101(S) = not (carlactivel(S) and carlactive2(S))

1em102(S) = not (car2activel(S) and car2active2(S))

1lem103(S) = carlactivel(S) implies (carlboundaryl(S) = 1)
lem104(S) = (not car2activel(S)) and (not car2active2(S)) implies

((car2value(S) = 0) or (car2value(S) = 2))

lem105(S) = car2activel(S) implies (car2boundaryl(S) = 2)

1lem106(S) = (not carlactivel(S)) and (not carlactive2(S)) implies
((carlvalue(S) <= 0) or (carlvalue(S) = 1))

1lem107(S) = (carlactive2(S) and car2active2(S)) implies

((carivalue(S) < 0) or (1 <= (car2value(S) - carlvalue(S))))

gbobbuoooobbbaod.

lemi01 100000000 (O 1)0000000O0O0OO0OOOOOO
guoodooooooooo.

lem102 200000000 (0 2)0000000000O00OOOO
guoodooooooooo.

lem103 activel(carl) OO O boundary; ™V 0 1000,

lemi04 200000000 (0 2)0000,00000000000
guoooooo,b 200b0b o0 20000000,

lem105 activel(car2) OO0 O boundaryy ™™V 0 2000,

lem106 100000000 (0O 1)0000,00000000000
gogdooo,b01o0o0ob oo dg1obobbbbo.

lem107 UOODOODOONO

> 00 lem107 U, 00 00O0O0O0O0O0O0O0O0ODODOOOOOOOOO0O0O0O0O, 0000
0000000000, 000oooooOo, “0 10 active2(ecarl) 000,00 O 20
active2(car2) 0000000, 0 10000,0000000,0000,0 2000 O
OO0 0obooooooco1o0o”bob.bobboooooobob, D 1obogo
goooddg,d 20000oboooobooo,brobbuggoobooag,uod
O,00o00oboooo0obob0 1boobo.”0ooooobooooboo0o10000o
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O00000000000000,000,00000000 (active2(carl), active2(car2))
0000000, active2(carl) OO0O0O0O0D0O00O0OO0O0O0O0O0OOOOODO. ODOODOO
lem 107 00 00000O00O0ODO 414000. 000 Patern[1-11-3]1 OOODO

--> Patern[1-11-3] (Used Lemma7)

open ISTEP

-- assumptions

-- -[1]

eq (carlboundaryl(s) <= (carlvalue(s) - r)) = true .

————— (3]

eq (carlvalue(s) < 0) = false .

eq (1 <= (car2value(s) - carlvalue(s))) = true . ... (1)
-- Namely

-- eq ((car2value(s) - carlvalue(s)) < 1) = false . ... (2)
-- Namely

-- eq (((car2value(s) - r) - (carlvalue(s) - r)) < 1) = false . ... (3)
-- Namely

eq ((car2value(s) - r) < 1) = false . ... (4)

000000000,000,(1)0000000000,0000 b, c0000,

a < b

noo,
b < «000000O0
000000000000 (2)000,((2)0000,

a < b
gdd
(@ —c¢) < b
000000000 (3) 000,000 (3)00,
(@ —b) < ¢
gdd
a < ¢

000000000 4)000000oooooooooooooo.

goobboogogobobo,bobbodooobbbbuouogo,obbbooooon
goo.
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--> Patern[1-11-1] (Used Lemma7)

open ISTEP
-- assumptions
-- -[1]
eq (carlboundaryi(s) <= (carlvalue(s) - r)) = true .
eq (carlboundary2(s) <= (carlvalue(s) - r)) = true .
eq (car2boundaryi(s) <= (car2value(s) - r)) = true .
eq (car2boundary2(s) <= (car2value(s) - r)) = true .
-- Namely
-- eq ((carlvalue(s) - r) < carlboundaryl(s)) = false
-- eq ((carlvalue(s) - r) < carlboundary2(s)) = false
-- eq ((car2value(s) - r) < car2boundaryl(s)) = false
-- eq ((car2value(s) - r) < car2boundary2(s)) = false
-- --[2]
eq carlactivel(s) = false .
eq carlactive2(s) = true .
eq car2activel(s) = false .
eq car2active2(s) = true .
----- [3]
eq (carlvalue(s) < 0) = true
eq (1 <= (car2value(s) - carlvalue(s))) = true .
—-- successor state
eq s’ = tick(r, s)
red lem107(s) implies istepl
close
--> Patern[1-11-2] (Used Lemma7)
open ISTEP
-- assumptions
-- -[1]
eq (carlboundaryl(s) <= (carlvalue(s) - r)) = true .
eq (carlboundary2(s) <= (carlvalue(s) - r)) = true .
eq (car2boundaryl(s) <= (car2value(s) - r)) = true .
eq (car2boundary2(s) <= (car2value(s) - r)) = true .
-- --[2]
eq carlactivel(s) = false .
eq carlactive2(s) = true .
eq car2activel(s) = false .
eq car2active2(s) = true .
————— [3]
eq (carlvalue(s) < 0) = true
eq (1 <= (car2value(s) - carlvalue(s))) = false .

—-- successor state

eq s’ = tick(r, s)
red lem107(s) implies istepl
close

--> Patern[1-11-3] (Used Lemma7)

open ISTEP
-- assumptions
-- -[1]
eq (carlboundaryi(s) <= (carlvalue(s) - r)) = tr
eq (carlboundary2(s) <= (carlvalue(s) - r)) = tr
eq (car2boundaryi(s) <= (car2value(s) - r)) = tr
eq (car2boundary2(s) <= (car2value(s) - r)) = tr
-- --[2]

eq carlactivel(s) = false .

eq carlactive2(s) = true .

eq car2activel(s) = false .

eq car2active2(s) = true .
————— (3]

eq (carlvalue(s) < 0) = false .
eq (1 <= (car2value(s) - carlvalue(s))) = tr
Namely
eq ((car2value(s) - carlvalue(s)) < 1) = fals
Namely
eq (((car2value(s) - r) - (carlvalue(s) - r))
Namely
((car2value(s)
successor state
eq s’ = tick(r, s)
red 1lem107(s) implies istepl
close

- r) < 1) = false

--> Patern[1-11-4] (Used Lemma7)

open ISTEP
-- assumptions
-- -[1]
eq (carlboundaryi(s) <= (carlvalue(s) - r)) = tr
eq (carlboundary2(s) <= (carlvalue(s) - r)) = tr
eq (car2boundaryi(s) <= (car2value(s) - r)) = tr
eq (car2boundary2(s) <= (car2value(s) - r)) = tr
-- --[2]

eq carlactivel(s) = false .

eq carlactive2(s) = true .

eq car2activel(s) = false .

eq car2active2(s) = true .
----- (3]

eq (carlvalue(s) < 0) = false
eq (1 <= (car2value(s) - carlvalue(s))) = f
—-- successor state

eq s’ = tick(r, s)
red lem107(s) implies istepl
close

pe .
ne .
pe .
ne .

1

<1) =

pe .
ne .
pe .
ne .

alse .

0 414: D00 (ODOO: tick,
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50 OO

oobood,0b,30,400000 HOTSOOOOOOOOOOOODOOoDOooOOooO.
go,dbbggbogbb.o0b,gbboobuooobodb,obboobobon.

5.1 0O0OOO

gobbo,gggdgobobbuooooobbbboooobbbboodg,odan
OO00obooboobooooooboooobobooboo,obo0 Oorsocooooogo
0000000000000000000 (HOTSOOO). 0O0,HOTSODOODOOOO
OO000,200000000,HOTSO000ODODOO, CateOBJODODODO, OO
gbobob.goobbobdoaoan.

e 00D DOODODODOODODO (HOTS)U,200000000,00,000000
goo.

e HOTSU,0000000D0DDODODDO (D0D0DUO0D e > 2)000,0000
goboboo,bbobbbddgoooooboobboooooooobboooon
goo.

OO0D0Db0O0O0O CafeOBJ OO OOOOOOOODOO,0000000D00D0ODOO
g.ooooogooo.

e CafeOBJ 0O O0O0OOODDOODO, 0000000, 000000000000O0 (OO
00000000000000000)00oooooOoooooog.

e CafeOBJ U D DOUODUODOODO,100000D00DOOOODODOO.

e o > 20000UULO0O0O,DOUO00O0ODLDOUOOOOLODLDLDDODOOO,bDDODOO
O0000000000000000000000000. 470000 lemi0o7 O
0)00o0o0O0oO0oOoo0o0ooooo0oooooooooooooooo,oo
gbobouooggobood.

200000000000,5.230[16)/0,000000000000000. 0000
googgo,s3tdooad. go,s22000,000000bbo0obbadan
gboodgb 1gbbogobodgbooobouogobboobboag,boobooban
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ooooog,HoTsobooooooboooobooboobuo. oooooboo,boboo
OO000b0ob0oo0ooboooobobo,HOTSOOOoOoooo, CateOBJ OO OO, O
gbobbuoooobbbuoooobbboooobobobood.

5.2 U0O0OO

0000,0000000000000000000,00000000002000
000 (PTS[18],[19), 000000000000 [16) 000000000, HOTS OO
000000. 000,000000000000000000[160000,0000
ooooooo.

5.2.1 00000000 (PTS : Phase Transition System)

000000000 (0o PTS)0,0000000000000O0,000000,0
gboboggoboogbbbogobbooobbbooo,bggoobooooboobao
oooooogo. PISFrMO0O0O0O400000,10000000000000. PTS
U,10,0000bbbgogobbooogbobuoon.

| FTM =(V, 0, T, A 11) |

V.00000000000
00000000000 D = {u,..,u,} 0000000000007 = {z1,...,2.}
0000,V = bulI00000.0000000000000000000T € 1
00000.00 VOOOOODO0OO000000000 vPoooooooooooo
00000 VSOoOooo VvV = vPuvSOoo0ooooooo,700000000

©O: 0000
ooooboooobooobooboob.oboboobooob0 roob oo,

©O - T =0

goooog.

T:000000000
00000 re7 0,000 s € ¥X0000 7-successor 7(s) CX 0000000
0,00000 p(V,V)000000.
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A: 000000000 0O0OO
O000000 ac ADO0OO0O0ODODDOO,

Pa — I(t) = F*(V°,t)

000000.000,p, 0 «0D00O0OO0OO0OOO0OO DOODOODOODO. I(t)DO,00
00000000 {z,2s,..7, =7} 0000000000, F¥(VY¢) O0OOOOOO
goboboogobobuoggboboogobobuoooon.

m: 000000
gbbooodgobbuoooob.bbogoobbbuooogn.

HOTS O pISOO0O0O0OOOOOOOOOOn.

ooogoo o

HOTSOOOOOOODOOoooooooo »Oo,prSobooooonoo poooog
O.000 HOTSO PO PTSO I00000.00000000O0,00 nowOODO
O000.PTSO000O0OO0ODOO VPO, HOTSOOOODOODOO0OOOO0OOO0OOO
gooo valuegDDDD,VSD HOTSOOOOOODOODOODOOoOooO.

ooooooo 7
PISO e 0000000 OOOOO. 00O PTSOOOO,000OO0O,000
OOoTrSgodbobobooooooon.

0000000000 T U {tick,|r € R}
OTSO0,00000000000000 +00000000,PTSO0000000
0000000000.000, “%:e(v)=1000000 o(r(v))=2000000
000,00 o000 z000,PTSO00ODO,

prix=1ANax=2 AT =T
ogooood.
goooooodgo

HOTS OOOOOoOoDOoOOoooooo,pISO0”4: 0000000DOOoOooOo” O
OO000.HOTSOODOO.00ODO0DOOoboO0O,HOTSO tick OODOODODOO.

20



PTSO,0000000C0O00DOO0DO0OO0OO0ODOODOODO,OD0D0ObObOODOD
g,ggoobbobbbotbuoooooooobb. bbbboodoogg,ooooo
goobbo,ggggobobooogobbbbuouogoo,bbbouoooon
gboobobuogbobodboba,bugbbogb,gobbuogboooboob, o
gbobbuogogbobobuoooobobooan.

5.2.2 JUOUOLOOOOO0OO

gbuogugboobbodoboobbuoobuooboobbobodobuoobbon
OO0bOO0bO0O.0000bO0bbo0obo0obooboobooboboobooobog, HOTSOO
Ooboooboooobooboobo. oobooooooooobo gsooo0 eboOoO
goboo.

HS = (Q,X,Init,Inv,t,f ) |

Q:000000000
QOD0000000,0000¢0 QOOOO0.

X:000000000
reX0,0gqeQDOIO0DDOODO.

Imvit : OODOO0O0O0O
gbbooogobbooogbbbooan.

Inv: OOOO
Oo0doooooooooog.

t:dggobobooggbobooogn

f:000000000D00DO0OO

OO0o0OobOobo,HOTSOOOOooooooboooo.

ooooo o
HSOOOO “Q:0000Db0b00ob0”0,HOTSOO0,0b0b0oooooooo

ol



0.0¢eQO0,HSO000 10000000000, p0000,00000000
000000000000, active 000000000.
"X : 00000000070 HOTSOO OO value! D000 D.

HSOOOOOOOO Inn 00000000000 00O boundary! 00000 .

ooooooo 7
HSOOOOOoDbOooooo mee0D0O0OO0OOO. ODOO,000000000
goboooogogo.

0000000000 7 U {tick,|r € R}

HS DOO0OO0O, “: 000000000000 00D0O00O0” 000. HOTS O
deactivatel, deactivate! 00000, 000, 00000000000000, tick O
O0D000. tick00DD000OD0ODDOO,HSO fOODO.

0510,00 :00000000000,0000000000000000000
0. 00000000000000,HOTSODOO0OD,00000000 QOO00O
000 (active)) 000000000000 D0O0O. 0O00,00000000000
activate!, deactivate! D00 0D00D0000000,0000000000000000
00000000. 0000000000000 f00000, 0000000000
0000000000000 0,HOTSOO,0000000000000000000
0D00. 000000,HOTS 000000000000 00000,00000000
D0000000000000. 0000000000000000000,00000
00000000000, 0000000000000000000000 HOTS OO
00000000000.000000,000000000000000000000
0000000 CafeOBJ 00O0DOODODOODO.
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0 5.1: HSO HOTS OO (00O : 000000O0O)

HS HOTS

Q ooo000 ¢ ={1,2,..a} 000

Q |b0b0oo0oboobooboOobUobUoboobo.oood,n O
X value 00O

X R

Init Ooooooo 7z

Inv boundaryf ood

t ooooooooog T

b - gggboboggobooo

Q {g:}: 0000

Q {on,of f} - DO0O0O (DOO, ¢ € {on,of f})
X |[{6}:0000

X |{R}:0DO0OO

Init | {(of f,0) : 70 < 6 < 80}

Inv | {(on,0):0 <82} U {(of f,0):0 > 68}
t {(on,0,0ff): 0 >80} U{(of f,0,0n):0 <70}
f(on) = —x 4+ 100, f(of f) = —x

0

HS | HOTS

Q {1} (=1

9 {12} m=2

X Ualue}((m), valuef(off)

X | R
Init |\ OODOOOO0OZ
Inv boundaryi((m), boundaryf(off)

t | activatel™”, activate? ) deactivate; ™, deactivater '’
f delta}((m), delta?(off)
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5.2.3 UU0OOUOOODLDOOOLOOOOOOOOO0

gobobboogooobboo,buogogbbbobooooooooboo, oo
000000000000000000000000000 (Abstraction) DO 0. 00O
gbooogboboogoboo,obbbogdgbbboogoboogoobodgooogo
0016 0000,000000000000000,0000000000A0.

gbobbuooobbbuoooobbon
gb,bogdobobbodggobbobuogogooobbuoooobobog. goan
gobobog,obbooooobbooogn.

00000 (Countinuous Dynamical System : CS)
CS = (X, Init, Inv, )

00000 CSO000,0000000 XO0O000oooOo X=\¥Xoooooao.

> X

X0O,00R0000D0O0OO0O0,0O0O00000O00O0.
> Init

oooooooooo.

> Inv

O0odoooooooooo.

> f
fobobobooboooobooo,

fi X >TX

gbboogobbuooobbo. gob,oogbbug,bbuoogbboogon
a.

csSoon
csooobo,bob 30oooooooboon,

o: I - X

ooooooo I =n,, ,]000000. c000000ODOOODOOOOOOO,
e 0000 (Initial condition) : o(7,) € Init

e 0000 (Coutinuous evolution) : for all 7 € (14, 7,), o(1) = f(o(7))

o4



e 0000 (Invariant) : for all 7 € [1,,7,], o(7) € Inv

OOo0,HOTSOOOO0ODO0ODO,10b00000000D0 100 s O0OOOODODO
goboo.

000000 (Discrete Transition System : DS)
DS ={(Q, Init,t)

OOoooboo pSOUObO0,0bobobodb0 boboobooo QbOooooooo
O.QUibooboooon.

> Q
gdooduououoo,ooououooouood.
> Init

goooouoodod.

>t

ogooooooood,

tC Q@ xQ
oooooo.

DS OODO
DSOO0OO0O,000 200000000000,

0: N — Q
gooooog.
e 00 OO (Initial condition) : 0(0) € Init
e U000 (Discrete evolution) : for all i € N, (0(i),0(i + 1)) € ¢

OOoooboo,oTsocoooooo,boboboooooog.

goo
CSO0O DSOO0OOoobOobOo 2000000000,

0000 1|DSO QUUODD0O0O0O00O00 p CRX|ODODOOO.

o000 2|0000000Db0O0000 ee@OODOODODOOODOODOODOO
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gooo 1 cstoobooobooobogo,bcobooooo,bobo roooooon
goboogobo. bog,bbogggoboooooboog.
gobobobobboo,oobbbbbbbbobbb,bbbbobbb
000 (Nilpotent Systems) [16|0 00 0000000000000,
gboobouooggboood.

gooo 2 0000 10000000000000000,0000 { pos, neg,
zero } 000000.00000000000O0OOOO Init@Q OO
gobobbh,ddggogbbb,ddggoobbbbbbobn
gobod,gbbogggooooogoobog.

gbobbuoogobobboooboboogobobuoooon.

DSOUO0O0OO0 XOUOOoOoboooooooobo pOO0ODOODOODODOODO
gobo,bbodgggobbbdoooobobboooooboobbooooob. oo
g,buogggbobobdugoobbboodbbb,odbb 200000000000
gooboood.

00000000000000000,000000000000 SAL[20]21)000O0O
gboboboogooboo.

gogbboooggoboogo

gbogbuooboobo0 Xboooboooboooooo.

f=AX 0000 X=AX (ADODOODO) ot [1]
D= T = A X 2]
p=a"X=a"AX and p=aTA’X ... [3]([1], [2]0O)

O00,4A"=00000 (p)=ad’A"x=0000. 0000000000 0000
ggb,dggobobuodgogbobbuooobboooobbbuoooobbboo
O.000,HOTSOO0ODO,OD000000DO0ODO0Db00O,00b00bDOoDbDOobO

O,000000D000000000,CafeOBJO0OO00ODOODOODODOODOO.

gobooooooobobod,invariant 00000000, 000000,000
googgboobuogbbuogo. bogbbuoobbooobooobbuoobboon
gbobbuoooobbbuoooobbboooobon.
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5.3 UOOoOOO
00000000000000,0000000,
e« 1000000000000 DODODO

O00000000. 0000000 [16)0,00000000 CafeOBJOODODODODOO
g,buggdgobobuooogb,uooooooo,

e n U DODOOOOOOODOODO

gboboboooogobbbodgdg. bbiuodd 100 nh0ogoobbbbbuoooon
gbobbugoobobobuoooobobooan.

OO0 1go0b0,gbobooboobooooooboooboobobobD HoTsooOo
O00000000.0000000 16 00000000,000000000000O
OO000000DOO0DOooO,0000n CafeoBJ DODODOODOO0OODOODODODO
goood.
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BN

gbuogobodgbooo,ggbuooboboobbog,oobbaooboo,bbod
gbobobo obbtbo gobboooggobooooooobo.
gb1ougdgo,boogbobbuooobboag,bbbouogbboboodn
gbobbug,b0bbuoggbbbuooubb ooob oooobbooog.
goboggbooobobogoboog,bbugbobbooobobbooobbao
gbobob,00bbb oobboooooboboadg.
goboboogodg,gbobuugogbbbobooooooooboog,oad
OO00O000D0bOonD CateOBJOODUODOOOOOOOOODO,0D0000000O
gobbuooogobb o0b dooub oogooboooa.
gboboug,bbougdgbbuooogbboooobbooda,bo,gobbob,dod
gboboggboggboodg,ooobooobouoo buogobag 3b 0oboono o
gobooog.
goboboogoou,bobuougogbbboboooooo,bbbobuoooad
goboobo,gbbobdudg 20 boog bobooooooo.
go,dbogogboobboobbodgbbogbog,bogbbuoboobn,d
gboboggobbood,bboogbboodgo,ugggbobooobbbuooobb O
gobobd 1g bobbdoogg bogogoooog.
gbobuoggbbuogd,uoggobbuodgbbuobbbooobbboobobbao
gooboo,ggobob 100000 bbbouooo. gggg bo,0000on
gbobobboooogbboboboooog,bbbbouooooobobbobao,oan
gobbuoooobobbo.ggoobuoooobbooooooboog.
gbobbboooogobbbo,uogooobbbuooooobobobboa,ooan
OO0 20 O0O0OO0OO0OD,0000,0000£0, Jittisak SENACHAK OOOODOODO.
gbb 1gboogdgbbo,gboboobbbooobbuodg buobbb 1040400
go,0d0gdg ougaoo.

gobouoggboboogobobuogooboo,o01obo,gooboodad
gbbboooobbooog,bbooo bbb obbbuooan.
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gb1odadg,bbboodb,oogobobbuoobbbbuoogboboboodan
g,b0ud oboodg obbooggogo.

gbouogo,ggbogbboob,ggboooo,gbboogobooobbonoood
gbboggbbod.gbb,ogbbuoogbb,goobboogbbooobn,d
gooo,gd,bg,gobobuoogooboggd.

00000000,00000000000000000000000000000,
0000 20000000,00000000000000000000000,000
0000000000000000000000000,00000000000000
0oO000000000000,0,0,00,00,0,000000000000000
ooooooo.
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